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coly: " MBR—M,PC—PC+1
cota: OPR — MBR(OP), [ — MBR(])
q3ylcots: Re1
(@1 + Ncoty: Fe1l
indirect  cylo: MAR — MBR(AD)
a: MBR — M
ety Fe—1,R<~0
interrupt  ¢3fo: MBR(AD) «— PC, PC+ 0
oy MAR — PC,PC+— PC + |
31 H M — MBR, IEN « 0
e3ty: F—0,R~0
execute  cafy: If (JEN A (FGI V FGO) = 1] then (R « 1),
If[IEN A (FGI V FGO) = 0] thea (F—0) .
AND Qocale: MAR — MBR(AD)
Qocaly: MBR -~ M
qocaly: AC«— AC A MBR
ADD qicate: MAR «— MBR(AD)
qicaty: MBR—~ M
qicala: - EAC « AC + MBR
LDA qacafo: MAR — MBR(AD)
qicaly: MBR «— M, AC 0
qic2la: - AC«— AC + MBR
STA Qcalo: MAR — MBR(AD)
qicaty: MBR — AC
qicaty: M MB’;((AD)
calo: PC — MB.
:;JAN ::c:r:: MAR — MBR(AD), PC — MBR(AD), MBR(AD) « PC
qscaly: M« MBR
gscala: PC—PC+1
ISZ . gecato: MAR — MBR(AD)
qscaly: MBR—~ M
qécala: MBR — MBR + 1
qecaly: M « MBR, if (MBR = 0) then (PC = PC + 1)

gil’cats =1 (common for all registec-reference instructions)
MBR(i) =B, i=5,6,...,16

CLA rBs: AC+~0

CLE Bg: E—0

CMA rBy: AC+—AC

CME rBy: E-E

CIR rBy: cit EAC

CIiL rByo: cil EAC

INC By EAC—AC+ 1

SPA rBy3: If (AC(1) = 0) then (PC — PC + 1)
SNA rByy: If (AC(1) = 1) then (PC - PC + 1)
SZA rByg: I (AC = 0) then (PC — PC + 1)
SZE Bys: If (E = 0) then (PC — PC + 1)
HLT Byg: S0

@ileats =p  (common for all input-output instructions)
MBR(() =B, i=S56,...,10

INP PBs: AC(9-16) « INPR, FGI — 0

ouTt PBs: OUTR « AC(9-16), FGO «~0- *
SKI pBy: If (FGI = 1) then (PC « PC + 1)
SKO PBy: If (FGO = 1) then (PC « PC + 1)
ION PBy: IEN 1

10F Plio: IEN «0




Basic Computer expressed by Register Transfer Language

















